ERHFHBEAMER—RR SETE [20246F 5] RERHENBFHKKHERAS

28703 ==ER
No.: EK#&: A R MR AR

1R& #8 V5 ahrk B7 8/AF 50m (t=A

2ty & 179y €0y BF HET 50m tt=A

3 ExE 50m (t= A

AT A WYE Y B7 8/AF 50m ft=A

5B &% NERENIR B5F B8F 50m tt=A

6 NY IS4 50m (t=A

TWA RE PY9F taeo B5F FiE 50m ft=A

8 ExE 100m = A

9 FEH = N A B7 8/AF 50m (t=A
10 =]zz5i7 100m = A
"MWF #®wa vYY9 1925 B7 8/AF 200m ft=A
12 EkE 200m = A
13 W 1ath W 197 BF N¥T34 50m t=A
14 N IS4 100m ft=A
15 B4 s NJER 13 % B5F B8F 50m t= A
16 =]zz5i7 100m = A
17 IRR  Eth ht 49b B5F KT 50m tr= A
18 kT 200m = A
19 Bk #R AN PENY BF BAXRL— 200m = A
20 BAXRL— 400m t= A
21 gk K5 VAV B5F B8F 50m tr= A
22 =]zz5i7 200m = A
23 1Iux &3} PYER kDR B5F B8F 50m t=A
24 NI IS4 50m ft= A
25 INERERR NG 354 BF KT 100m = A
26 kT 200m ft=A
27 HH S AR St B5F B8F 50m tt= A
28 EkE 50m tt= A
29 |LIFFAER 5t 19909 B5F B8F 50m tt= A
30 BHEF 100m fE=A
NEHE ¥ AN 7P ZF BHE 50m tt= A
32 NI IS4 50m ft=A
33 At E0x ¥ ZF BHfE 50m ft= A
34 BHEF 100m fE=A
35 P BF 109 M3 ZF BHE 50m (=N
36 kT 50m (=N
37 WHEAE iy 73 TF NFITSA 50m ft=A
38 BAXKL— 200m ft=A
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28711 RThIZA
No.: EK#&: A R MR AR
T WA ERR PYER 199" BF BHF 200m A
2 kT 50m tt=A
3HE #Bth 191 9% BF ghw 50m (t= A
4T &K 459F 194 B7 8/AF 50m (t=A
5 NY IS4 50m (= A
6 FH St 35" 19 B7 8/AF 200m ft=A
1 =]zz5i7 400m = A
28721 HIETHATE
No.: EKK#&: A R MR AR
1 BEFREER TAYA Zhlb BF BHFE 100m #t= A
2 kT 100m = A
3FR EE 7Y 3bA TF BHEE 100m = A
4 BAXRL— 200m ft= A
28724 EERE
No.: K&: hr: FR: 45 BAEH:
1EHF BBE fi)f 74E1 BF BHF 50m t=A
2T FX 9r9F €71 B5F B8F 50m t=A
3 =]zz5i7 100m = A
4 RE KE IWER VY] B5F B8F 50m tr= A
5 =]zz5i7 100m = A
6 BIR E— TINT 51F BF N9734 50m ft=A
T IR KE# N\ F 5428 B5F B8F 50m tt= A
8 R F& THEN Y9y BF N9734 50m ft=A
9 |ILH EE W Ihan BF N9734 50m ft= A
10 BAXRL— 200m ft= A
M WHE =F Wy 11 ZF BB 50m ft=A
12 1% T8 ) ZF BHE 50m tt= A
13 NI IS4 50m ft=A
28726 swme X
No.: K&: hr: R 45 BAEH:
THERA #® $39Eh V19 B5F B8F 50m tt= A
2 BAXRL— 200m ft=A
3T BH $)9% y191 B5F BHF 50m (=N
4 BAXRL— 200m ft=A
58Il KE SRt B5F BHF 50m (=N
NZ IS4 100m = A
28749 =TT
No.: KK#&: vl ab FR: MR AR
1BF BE 4th 41" BF ExE 50m (=N
2 kE 100m = A

2024/6/11 17:32

2/4 R—T



EREFRIBRAER—BR

SBTE [2024FE] RERHS ANEFHEKKREAS

28773 EiliEESwaLL:IE]
No.: EK#&: A R MR AR
1 =55 RER vy 19509 BF BT 50m (t=A
2 R IBE— ThAS V" 147 B5F B8F 50m tt=A
3RS W 1Y 30 BF BHF 50m tt=A
4 BB B8 NN RoF B5F B8F 50m tt=A
5% BE wEAAU L] B7 8/AF 50m ft=A
6 NY IS4 50m (t=A
TR S YU EN 2984 BF kT 50m (t=A
28824 i by i 1)
No.: EKK#&: A R MR AR
18£8 FF Y% V19N BF kT 50m tt=A
28840 NSI
No.: K#&: ht: R MR BARER:
18H Rt Y5 kOk B5F FiE 50m t= A
2 NI IS4 50m ft=A
28842 S TtE
No.: K#&: ht: R MR BARER:
11X BN YHER 1937 B5F B8F 200m ft=A
2 NI IS4 100m fE=A
3IEH fEfT U Y41% B5F B8F 50m t= A
4 N IS4 100m fE=A
28892 NS I#$5
No.: K#&: Hr: R MR BARER:
1BE BE 9h5° eO% B5F B8F 100m = A
2 =]zz5i7 200m ft=A
28902 BZEREES C
No.: K#&: Hr: R MR BARER:
1TF0O & 73 F 2N BF FiE 50m tt= A
2 NI IS4 50m ft= A
3IRF WA ihe Vb B5F B8F 50m tt= A
4 NZ IS4 50m (=N
5he BIE WY 47 BF NI 50m (=N
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28934 HSST
No.: EK#&: A R MR AR
1HREx &% NJES 1% B5F B8F 50m tt=A
21111 Rl 4507 31 BF N9I734 50m (t=A
3 NY IS4 100m = A
4 IJ.I$ I"éju..\ EL S8 BF S'Zij(::\l 50m *i%A
5 EkE 100m = A
67l B YIn9 Y3971 BF KT 50m ft=A
7 EkE 100m = A
8 LR TR t31 90l BF HAT 50m tt=A
9 kT 100m = A
10 MEBETS INT Y TF BHEE 50m (= A
1 NY IS4 50m (t=A
28940 K17
No.: K#&: ht: R MR BARER
TE8 = N EYRED] B5F FikE 50m t= A
2 @A tHE ThEh 993 B5F &%kE 50m tr= A
28941 TOY BOX
No.: K#&: ht: R MR BARER
1P Kith 1N 5" 17 B5F B8F 50m t= A
2 NI IS4 50m ft=A
3HB F=E 91h b7 1% B5F B8F 50m t= A
4 N IS4 50m ft=A
5B8FR Eh Ry BF FiE 50m tt= A
6 NI IS4 50m ft=A
TEH En t31 4hE0 B5F B8F 50m t= A
8 NI IS4 50m ft=A
9 JSEEEARER 19 Y1909 BF KT 50m tt= A
10 BEkE 100m fE=A
2899M AR5 UA
No.: K#&: Hr: R MR BARER:
1K BX Y \ph BF FiE 100m = A
2 EkE 200m ft=A

2024/6/11 17:32

4/4 R—2



